Beor B Y —E X RGHEfI—% (2021410818 ~)

[BBEE ) 7 : TEREAH/NT7 -7V v FEAEH]

I BEFXBY —EX g BAY 2 S Hf FEE RIS M FEFMB L BB B

EELEI:E RPN N £ sy S Afr A AL g A
BeXH CHBREREYEST) BHERESEMICET) BHERESEMIET)

EE2Y 1 kW 214F508%
T THE A
ML R —— \
BEHRE o 1 kVA 143M005%
ez ERIEAREN
BHENS 1kWh 7485 0M08%% 0M06%%
EE2Y 1 kW 214F50%%
® F o AR TNTTL =R 1 kVA 143M005%
j: 1+ - i
SIELEEE ARSI
BERE
Y-z BRI RS 1 kWh 8235
BEhERE 0F08%% 0F06%%
R e R 1 kWh 6M58%%
)l RS ES=221 1 kw 704M00%%
EAE FFARASREEN 1 kW 445M508%
F-ER EHEHS 1 kWh 5M203% 0F3083% 0FI063%
= [ pmse BEARE 1 kW 555M508%
BEHEXEY—EX EHEES 1 kWh 2M37%% 0M08%% 0M06%%
= N 1 kW 555M1508%
= TR R
R R 1 kWh 2608
HABY — X EHERS 0F308%% 0F306%%
7’ IR 1 kWh 2M078%
15 S EARlE 1 kW 379F3508%
BEHEXEY—EX EHEES 1 kWh 1F333%% 0M08%% 0M06%%
HhlE T TN 1 kw 379M350%%
SHlE=yaas !
%Eif’i ) BRI 1KWh 1428
HABY — X EHERS 0F308%% 0F306%%
gl i 1 kWh 1M20%%
[B8FET ) 7 : BB SR ERRAH]

BERS BEHEEY - [y WA % R EMm EEaEEEM BBt aEsEMm
AR CHERZHYERD) BHERSEMICEE) BABKSHEMICAE)
= HEARS 1 kW 517F00%%

HXEY —EX EHERS 1 kWh 2MI65%% 0F9128% 0F911%%
= F HEARS 1 kW 517F00%%
EEBE SR
+:TEFEEJWE{ BRI 1 kWh 2m878%
HRABY — R EHERS 0F128% 0F1188
72 P A RS 1kWh 2M348%
R S N 1kW 407F300%%
EREBY —EX BHEHS 1kWh 1M1268% 0M118% 0F108%
RIS E HEARS 1 kW 407M00%%
[ P=Es:= [
SRS B 1 kWh 113458
HRABY — X EHERS 0F1188 0FI10%%
it 1kWh 1M178
[AMT 7 AINEHERERREH]
EEEY —EX WA %R EMm BEEaiEsEMm BB aEeEMm
r:Ev}___t X/\ TL

BER HeX 5 # CHERZHYERD) (BHBREBMICAT) BHERSEMICEE)

oy b N 1kw 456508%
HRABY —EX BHERS 1kWh 2M718 0F308%% 0F3088%
5 HAKS 1 kW 456M350%%
= ERR®ER
BERTEA BRI 1kWh 3M018
BABY — X EHERS 0FI085% 0FI085%
it 1kWh 2M328%
RIS AR LN S 1kw 434M508%
HEBEY —EX EHERS 1kWh 14985 0F078% 0F088%

HRlE T HEARE 1 kW 434M50%%

=ER
qj?];; SRR BRI 1kWh 196335
HABY —EX EHERS 0F075% 0F3085%
R 1 kWh 1M338%




